BB B ® (AfL#E)

BHEE 1215 L3 & | ARFEKEREKAR Y THIEHRRRBRIE
w=IEHIRMIE (F 5 A |IRETmAEBEIS533—2
AfLBTE  SFI5FE1H27H 0985304
B4 GRE) ML, ALEICREH SN EAL GRRE) M T EHE
LEE(CEZULEDI0HNDI0IZHEET S
BEEMELL-£8ET. ZFLOAWLBEERTH S, 5, 390, 000 5,753, 000
1K H R L B 4%
4,762, 1709
%10 % 2@ % 3[E
BREES %ﬁ%
NEER (&%) 5,126, 000 [ =]
ZXEBELIS () 5,155, 000 [ =]
THEEIERE (F) 5,100, 000 [ =]
Yw>ThA (k) 5,180, 000 [ =]
SBRERILE (k) 5,000, 000 [ =]
EHEaLE () 5,100, 000 [ =]
(%) EAEIf 5,080, 000 [ =]
LW—8K &) 5,130, 000 [ =]
BHERILE (&) 5,220, 000 [ =]
—BERIE (%) [ M A
¥ R
Z2=ZIT% (%) IKBEEZEM 5,170, 000 [ =]
:9#1—9— (%) BEXRE FBHKREZX 4,900, 000M A ]
=11 % #l
M =] =
M =] =
M =] =
M =] =




BEE
L3 = & (A#L#&)
BHES 3269 L3 4 |FE212IXBREEREIS
w=IEHIRMIE (F 5 fr [IRBTHEE 1 TEIEM 1A
AfLBITE  SFI5FE1H27H 0985304
B4 GRE) ML, ALEICREH SN EAL GRRE) M ¥ E Mg
LREICZLLRENI0H5DI0IZHKT S
FBEEMEL-S$%ET, ZBLOANNMETH D, 12,592, 250 13, 255, 000/
=K HII R L B i 4%
10, 784, 2904
ERNE] F2M =3
ERES . = e
AKBARTKR (B) 11, 800, 000 =]
(%) HIITEE 12,000, 000 =]
RBEESR (%) [ A
¥ R
BEAES () [ A
¥ R
(%) LFETE 12,040, 000 =]
(%) EHMER 12,000, 000 =]
(%) ©BERHE 11, 809, 000 =]
MEITE ¥R A A
¥ R
nE %) 11, 447, 5000 =]
% #
(%) FAM 11, 900, 000 =]
BRIZE B 12, 050, 000 =]
() hya4EE A [
¥ R
(#%%) XA M [=]
¥ R
=& (&) M M
¥ R
M =
M =




